5609.10-GA.T055

19,6
19,1

’

56

Co o ooo 0!

.

)o

. Q

CABINET MOUNTING HOLES

® 5,8 THRU N\ M5 FLAT HEAD

f{/m ‘_I 4P o7 . e W= W 9=y
Wy W | Wy W Wy Wy Wy W e
oM R S — =X 0
N — O O n — ™M N
- @ ~ @© > x> N
® 5,8 THRU \./ OPPOSITE SIDE M5 FLAT HEAD
0159 — / I |
_@_&é,; o7 m%;_@_‘_ Gl ). _7%@7_ 5 By _ B}
RO AT A  —% % 20
‘ — |
o N @ oy oo m N
Q) — o o NN WO 0
— ™ e O O O~ 'CL\
- 254+3[10,0%,1] EXTENSION —— 254[10,0] -

RECOMMENDED HARDWARE:

BUILD IN WIDTH

===

SCALE 1:1

X

general tolerances

ISO 2768-m

@) DIN ISO 128-30

missing dimensions see 3D
= theor. intersection

This drawing remains our property and may not be multiplied neither be disclosed to third parties (§§1,3 and 5 from the copyright Act (UrhG))

covered according to DIN ISO 16016 scale: surface: | material, semi finished parts: A2

o 1:2 STEEL

CABINET- M5 FLAT HEAD SCREW #10 FLAT HEAD SCREW 0 [ date T namo | (tochnical requirements Pulorer)
w -05- ption:

(C%) proven|00-00-0000| 00 | FULL EXTENSION SIDE MOUNT
DRAWER- M5 FLAT HEAD SCREW OR #10 FLAT HEAD SCREW b Fulterer| Deconnear: VITHDRAWER

© Fulterer AG & CoKG |drawing number:

[®) A-6890 Lustenau / Austria

(a) |UPDATE TITLE BLOCK [19-03-2019 | HB Fulterer AG 5609 1 O-GATO55

ind. changes date  [na. CH-9430 St. Margrethen  [replaces version date:

Dienstag, 15. Dezember 2020 07:32:33

markus.ropele




	FULL EXTENSION SIDE MOUNT
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7


